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O ot A2/ HEHA(2Y)
250,000,000& = 14 250,000
405 XHAHESH| 4,200 0 4,200
01 XA ESEH=HI 4,200 0 4,200
O SAAHEEHE WM 500,000& = 6K 3,000
O ZAAHE THE &tA 600,000& * 204 1,200
=E0ISHE MASFAAE 2 60, 160 36,970 23,190
201 Lt 3| 20,160 36,970 216,810
01 AtS2eld] 11,760 31,570 A 19,810
O get==ZH| 8,400
- SAHEEE 25 ARS
350,000& * 12& = 23| 8,400
O =gl 3,360
- CARE Fas =X
7,000& = 401 « 120 3,360
02 232944l 8,400 5,400 3,000
O ANEZEHIRXH] 8,400
- SAHEES 25 ZEHD| 22
100,000 = 7CH = 12& 8,400
207 S oHEH 40,000 0 40,000
01 ¢339 40,000 0 40,000
O XNEEHDA 2E0SIEMAH(KLIS)S
H(Ed) 40,000,000& * 14l 40,000
CHEAl dESH DB = 10,696,067 262,912 10,433,155
& 225,000
Al 10,471,067
SAIZEIAE F& 9,720 40,050 A 30,330
201 Lt 2,520 31,050 228,530
01 ArR2teld 2,520 1,050 1,470
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SN EAD
HH: DIRNE TAITH

Sl HEA SFE JIB7S (9l &8

_ _ _ Muo
A -3 -2 (3H) - NRAY - BEZ i 'oﬂ/'\_FOH Hlws2
O 2l 2,520
- CAIEH YL MAIHE AL ER
7,002 * 391 * 120 2,520
202 OiHl 7,200 9,000 A 1,800
01 =0l 7,200 9,000 A 1,800
O SAEH & AAHAIAY AREX
20,0008 * 391 * 120 7,200
ML - THASAY =& 19,300 173,215 A 153,915
201 gty 12,100 140,515 128,415
01 At=atelt| 12,100 3,150 8,950
O dstagH| 10,000
- FOIHYE X MR
10,0008 * 50004 * 23 10,000
O 2l 2,100
- TN THAS ALY R =X
7,0002 * 601 * 50 2,100
202 Ol 7,200 7,200 0
01 =00l 7,200 7,200 0
O WHL . THASAIY HREH
20,0002 * 621 * 60 7,200
OFAFOFR TAIHEAIY = 2,520 20,309 17,789
201 gty 2,520 8,309 N5,789
01 At=aelt| 2,520 7,200 A 4,680
O 2l 2,520
- NEA NEER =X
7,002 * 391 * 120 2,520
SSBE XA 10,214,527 0 10,214,527
401 AZHI L2 10,214,527 0 10,214,527
01 Al&H 10,214,527 0 10,214,527
O 232 X4 AY sSXXA|
214,527,0002! * 14l 214,527
O 2saxxs 10,000,000,0008! * 14] 10,000,000
SHOFE JIPI| ALY 450,000 0 450,000
= 225,000
Al 225,000
401 AZHYL2H] 450,000 0 450,000
= 225,000
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S SAID
= DIHKE TAIES
o Al 88354 D)2 s Cte X2l
- _ _ bSE Y=
2N -3 -2 (SH) - NEAME - BHES Ol & @ﬁOH HunsZ
401 AIEHIZLS20HYI Al 225,000
01 Al&H] 450,000 0 450,000
O ZHOISIIRIIAL 450,000,000& * 14| 450,000
& 225,000
Al 225,000
NEAHIA HS 16,160 108,838 N92,678
OIAHEHO| AIZH F=&X 16, 160 8,400 7,760
201 eI 12,560 8,400 4,160
01 AtR22id] 12,560 5,000 7,560
O dit=2H| 7,800
- NHAFIANREE 2L
400,000& * 12& 4,800
- gAY Bl 2S
1,000,000& = 3A 3,000
O 2824 2,240
- BESAEIIAG AR BAxcsS
70,0003 = 891 x 43| 2,240
O =&l 2,520
- ANHHEY =& 7,000& * 321 % 120! 2,520
202 O4Hl 3,600 0 3,600
01 =2WAbl 3,600 0 3,600
O XN=EHY HRFX
20,000& = 39! * 60 3,600
ME=A20HAIS 42,290 151,020 A 108,730
M=A20AMY &9 42,290 56,220 A 13,930
201 LBt 39,290 53,220 A 13,930
01 ArR2t2|bl 9,290 24,220 14,930
O Litx==2H| 7,400
- MEARHAIE E22 H&
100& * 50,0000H 5,000
- =22 gdzu 1,200,000& = 24 2,400
O 2l 1,890
- MEAAMY 27
7,000& * 321 = 90 1,890
02 =324l 30,000 29,000 1,000
O AM&EEBIS X b 30,000
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SN EAD
HH: DlhNE TATY

Sl ML S O0IALS (5l &2
_ _ _ Muo
SN EB - SRA(3) - MRAY - BES 0 & 24 e HRE2
- 2 AAEY B 30,000,008 * 141 30,000
202 OfHl 3,000 3,000 0
01 =Lioit] 3,000 3,000 0
O MFEAROAY PR
20,0002 * 391 * 502 3,000
B2 A A (TAIT) 154,115 74,170 79,945
= 2| 117,815 33,660 84, 155
22| 117,815 33,660 84, 155
101 oI21t] 112,415 0 112,415
00 =g 112,415 0 112,415
O NZ22R4Y
7,45720 * 67AI2F % 2501 * 122 * 0.75 112,415
203 ARFXY| 4,200 7,260 A3,060
04 SASIALETY| 4,200 4,260 A60
O ZAIDH3021015H) 350,0008 * 122 4,200
204 HPLHAY 1,200 26,400 25,200
NEEEEEESED 1,200 26,400 £.25,200
O B 10,0008 * 19! * 128 1,200
|22l 36,300 40,510 A4,210
=y 36,300 40,510 A4,210
201 L2yl 36,300 26,760 9,540
01 AFR2elt] 36,300 25,920 10,380
O e8| 14,400
- SABT S IALEE 7Y
500,008 * 122 6,000
- Dag EY P
350,002 * 122 * 20 8,400
O Szl 1,340
- SAEH YR
7,0002 * 991 * 1802 1,340
O Yzt 10,560
S REEES] 220,002 * 20 * 122 5,280
- 2l ERIE | 10,0008 * 4CH * 128 5,280

- 20 -




M NS
3 sus 4 I
o9 24 S 84 2 XY (S92l
SN M. C(BH) - MEAR - HES O] &k o S HlmE2
mE=nl; 23,072,349 21,692,225 1,380, 124
= 621,000
s 950,000
& 1,375,485
Al 20,125,864
th=swes s4 N 21,412,197 20,127,273 1,284,924
= 621,000
s 950,000
= 1,375,485
Al 18,465,712
2+ 788 54 € N2 10,037,000 9,022,920 1,014,080
Rt2Ex=a XA 10,000,000 9,000,000 1,000,000
307 2IZ2t0lA 10,000,000 9,000,000 1,000,000
09 2xYAHEXZ 10,000,000 9,000,000 1,000,000
O RNEEXZ (2. SHA.HA)
10,000,000,000& * 14 10,000,000
MEBEBSISASI 2SEN & 37,000 17,920 19,080
201 L3 8,000 10,200 A2,200
01 AtE2teldl 8,000 10,200 A2,200
O Ler+gY| 3,000
- o= AE6I AEA
100& * 2,00004 = 153 3,000
O 284 3,000
- A DEMSRE B
3,000,000& * 1A 3,000
O =&t 2,000
- HENVER A2ET 2,000,0002 * 14} 2,000
202 O4dl 6,000 6,720 AT20
01 =Wobl 6,000 6,720 AT20
O DEYL =¥
50,000& * 221 * 53] = 12& 6,000
203 YRFL&H| 3,000 1,000 2,000
03 AIMZFAAHSFLY] 3,000 1,000 2,000
O EANnES Sl gRFH
3,000,000& * 14 3,000
307 gQiz2tolA 20,000 0 20,000
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S A
X XH .
(= I

chel:

s
s0E 4 X
S 229 84 2 1=

_ _ SIEN
N-E3H - E2(3H) - MRAY - BdS At ol Ol At oH Hws2
03 ASHEZS 20,000 0 20,000
O DEMDULES L SPHAIMH (DY
SH8l) 10,000,00020 * 1JHEHH 10,000
O DEMDULNE HS A (423)
10,000,0002! * 1JHEHH 10,000
nE2Ss 7,392,340 7,981,578 589,238
= 621,000
= 1,375,485
Al 5,395,855
AU A o2 67,320 33,788 33,532
201 Ygreg| 20,520 29,948 ~9,428
01 At 2el| 20,520 29,348 78,828
O ys+gY| 18,000
- AU A LHES 10,000,0002 * 13l 10,000
- LHBMAO T2 BIS 0BHY
8,000,008 * 13 8,000
O 2| 2,520
- ANUHA S ZE| HRET
7,0002 = 391 * 1202 2,520
202 OiHl 4,800 3,840 960
01 =00l 4,800 3,840 960
O ANUHA CeE
20,0008 * 201 * 102 * 128 4,800
401 ASHLLHY 42,000 0 42,000
01 Al 42,000 0 42,000
O ANLIHA SX0I T2 BISHHI&X
7,000,0002 * 6CH 42,000
AMUHA BlSoed a8 1,530,000 1,680,000 A150,000
207 SiTIH Ll 30,000 130,000 100,000
TBEEEET] 30,000 130,000 100,000
O HILd cABTY MF(BY)
30,000,008 * 14! 30,000
307 QI2H0IF 1,500,000 1,550,000 50,000
09 22T 1,500,000 1,550,000 250,000
O QNBTHHALH B4
125,000,0002 * 43| 500,000
O Hi+oAed aag
250,000,0002! * 43| 1,000,000
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w1
swsE s4 N
HsunsSedst (chel &)
_ _ _ HAT
A -3 -2 (3H) - NRAY - BEZ O AF oK Ol At oH Hws2
ANUBIA 2285 AL 1,500,000 1,800,000 300,000
307 2I2t0IA 1,500,000 1,800,000 300,000
09 2FLYHALZEI 1,500,000 1,800,000 300,000
O ANUHA R2as &84
500,000,0009 * 33 1,500,000
HENS 2+3AX dHEY 100,000 100,000 0
401 AlEHIZL 2O 100,000 100,000 0
01 A&l 100,000 100,000 0
O 2+SANEHES 100,000,0008 * 14| 100,000
ANUBA BSFXE =4 600,000 3,000 597,000
401 AlEHIZL R0 600,000 0 600,000
01 A&l 600,000 0 600,000
O AlUHA Ss=XE =4
500,000,0008 * 14| 500,000
O sXZEAH 100,000,0008 = 14| 100,000
HERSAHIA WA 105,050 242,290 A 137,240
201 Bt 8,250 9,450 A1,200
01 ArR220H] 8,250 9,450 A 1,200
O L= 5,450
-H=E=nsE 234 2SI M
60,0008 * 400 2,400
- BAl A HEHAS M 50,000& * 61K 3,050
O 2&tl 2,800
-H=nseRFA
7,00090 = 491 x 1002 2,800
202 OiH 4,800 3,840 960
01 =2LH0ibI 4,800 3,840 960
O s MblA JHe =&
20,0008 * 49! x 52 « 128 4,800
307 2I2t0IA 6,000 26,000 20,000
04 DIZFSAIEZ 6,000 6,000 0
O tzwns S Aet0E d=sUs
6,000,0008 * 13 6,000
401 AlEHIL R0 86,000 203,000 A 117,000
01 A& 85,000 200,000 A 115,000
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e
HERE sS4 N
Hsusadst EEEEED
SN EH - BR(EH) - RN - BAS sl Cl= HlRE2
0fl &b
O AlUBA SHISZE &
10,000,000& * 542 50,000
O HA 2% 2X8 &X
700,0002! * 5071 35,000
03 AlZ=0dl 1,000 3,000 A2,000
O NUBIA SHE2E SIS
1,000,000& * 14l 1,000
ERAIS E M A 80,000 0 80,000
207 S FOHEH 80,000 0 80,000
01 389 80,000 0 80,000
O ©Al S2H =AH(ESR)
80,000,000& = 1Al 80,000
HaAEE 258,000 600,000 A 342,000
= 150,000
= 45,000
Al 63,000
307 QI2+H0I& 258,000 600,000 A 342,000
= 150,000
= 45,000
Al 63,000
09 2xYAEXS 258,000 600,000 A 342,000
O MaAzg 258,000,000 258,000
=2 150,000
< 45,000
Al 63,000
HdAIAXSI E2 942,000 382,500 559,500
= 471,000
= 235,500
Al 235,500
307 QI2told 942,000 382,500 559,500
= 471,000
= 235,500
Al 235,500
09 2xLAHEXS 942,000 382,500 559,500
O HONATSR LSS AL
942,000,000& = 14 942,000
= 471,000
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M WS
HH: 5usS sS4 NA
¢l hsnsgdst (e =@
A -3 -2 (3H) - NRAY - BEZ O AF oK gg;ﬁ; Hos
< 235,500
Al 235,500
HIALHHA &84 XA 24,444 100,000 275,556
& 12,222
Al 12,222
307 glz2told 24,444 100,000 AT5,556
& 12,222
Al 12,222
09 2=HAHEXZ 24,444 100,000 AT75,556
O 8- dHAE=ABA (XY (=2A
) 24,444 0003 * 14 24,444
=3 12,222
Al 12,222
AMUWHA Of - BHX XI& 50,000 40,000 10,000
& 15,000
Al 35,000
307 glztold 50,000 40,000 10,000
= 15,000
Al 35,000
09 2xgAHExS 50,000 40,000 10,000
O AMUHA OF - HIX X
50,000,000& * 14 50,000
& 15,000
Al 35,000
AMUHA THE X 2,135,526 3,000,000 A 864,474
& 1,067,763
Al 1,067,763
307 glz2told 2,135,526 3,000,000 A864,474
= 1,067,763
Al 1,067,763
09 2xgYAHExS 2,135,526 3,000,000 A864,474
O HASSALUHEXZ (XLoI)(=2A
) 2,135,526,000& * 14 2,135,526
== 1,067,763
Al 1,067,763
SAE erdzte| 1,258,000 1,168,003 89,997
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22X s

. ERE S48 19
EHelr WSAIE otd 2te| (el &)
_ _ _ Muo
SN H - SR(EH) - NRAMY - B 0] &k o e UimE==l
WSAIE et 2] s 950,000
Al 308,000
HelolEs 49 950,000 0 950,000
s 950,000
401 AIEHIZ =0 950,000 0 950,000
s 950,000
01 AI&HI 950,000 0 950,000
O olRoIPsRAX &K
950,000,000& = 14! 950,000
s 950,000
wWEAE EX & 7R 308,000 1,168,003 A 860,003
201 ZEH2IH] 6,000 6,003 A3
01 Arf2teld 6,000 6,003 A3
O gxz 6,000
- FEMIAN=TE 3,000,000& * 204 2 6,000
207 A OHEH| 100,000 0 100,000
01 AE9dl 100,000 0 100,000
O =S HEBHETA(ESN)
100,000,000& * 14! 100,000
401 AIEHIZLSOYI 202,000 1,162,000 A960,000
01 Al&HI 200,000 1,155,000 955,000
O nESetdAId = EH| 200,000,000& = 14! 200,000
03 Al&=0iH 2,000 7,000 /5,000
O WSt A& ZH| 2,000,000& = 14l 2,000
Y ws HEAIE XI# 2,724,857 1,954,772 770,085
LHCCTV KX 22l 1,212,600 727,000 485,600
201 LEHRHH| 240,000 3,600 236,400
02 =324 240,000 3,600 236,400
O 32222 % WA 240,000
- 2HEHCCTV 3322 (MII+Sl)
20,000,000& = 128 240,000
202 O4Hl 3,600 2,400 1,200
01 =LHAHI 3,600 2,400 1,200
O ¢4 CCTv gR=&
20,0003 * 321 = 5& * 12& 3,600
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S A

i
=L
=
[m=)

Celr HC DE SHEAIL X (B9l &)
5 I SIEN
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ofl At ot Hws2
401 ASHILLHY 969,000 721,000 248,000
01 AlZH] 969,000 718,000 251,000
O gl CCTV SXIZ2l (2132
84,000,008 * 14! 84,000
O gl CCTVa Xl 13,000,000% * 60CH 780,000
O gHg Bl 35,000,0002 * 3CH 105,000
NSEnEHH 1,003,057 705,672 297,385
201 Y2yl 498,737 422,352 76,385
01 A2zl 3,000 3,000 0
O 2l 3,000
- BIS HUHTAEAILE
5,0002 * 621 * 1002 3,000
02 =Tzl 495,737 419,352 76,385
O Z2RILHA 495,737
- ITSAIE 2 ®DI23
4,000,008 * 122 48,000
- MBS U FLE IR
13,000,002 * 128 156,000
- ITSAIS RO S4R3
36,2608 * 16874 * 122 73,101
- BIS(TRS2 3) 16,5002 * 318CH * 122 62,964
~ TSR X I (WDS) B4l 22
52,9108 * 534 * 128 33,651
- ITSS YA EI|(CCTV)EAI 23
166,670% * 2404 * 122 48,001
~ BISHI AT HOHAIAE (BIT)EAR
28,0502 * 1794 * 128 60,252
- ITSREXSME OIE WS ZE (1000t
2) 1,147,300% * 122 13,768
202 01| 4,320 4,320 0
01 =Ufoi 4,320 4,320 0
O NSEDEMH L5
20,0008 * 621 * 32 * 128 4,320
401 AEZHI L2 500,000 279,000 221,000
01 AlZH| 498,000 270,000 228,000
O ITSHE 2 ZHIgX 22l
356,000,0008 * 1 356,000
O BISHAHEIR ZbI0I&
600,0002 * 20CH 12,000
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22X s
M =ns 4 I
Sl A NE OHEAIA X (ctel. s 2
- _ _ bSE Y=
2N -3 -2 (SH) - NEAME - BHES Ol & OﬁEOH HunsZ
O BISHHAZZOHLHAIAE(BIT) & X
13,000,000& * 1092 130,000
03 A& S 0HHI 2,000 9,000 7,000
O ITSAIE 20H ] 2,000,000& * 14 2,000
nNEANE=E A2 509,200 522,100 A 12,900
201 B2 26,200 22,100 4,100
01 AtR22id] 26,200 22,100 4,100
O get=2Y| 23,800
- WENSE HEFH 242
17,0003 * 1,4004 23,800
O 2l 2,400
- A5 S SR
20,000& = 201 = 52 x 12& 2,400
401 AlZHIL204H] 483,000 500,000 A 17,000
01 Al&HI 480,000 500,000 A20,000
O XS E A2 (SHIHHL 4HXS)
120,000,000& * 44X & 480,000
03 Al&R0iY| 3,000 0 3,000
O WEANE22X 20Ul
3,000,000& * 14 3,000
HMSHAH (WED) 150, 152 54,952 95,200
ole 2| 134,912 36,840 98,072
oz 2F | 134,912 36,840 98,072
101 Q14| 111,512 0 111,512
02 =% 111,512 0 111,512
O Al2tzaesx4
7,4573 * 67AI2F = 2321 = 128 % 0.75 103,422
O 52225
56,1753 = 401 » 32 « 12& 8,090
203 YRF&Y| 4,200 4,440 A 240
04 ENSIELRFZAHI 4,200 4,440 A 240
O WS (30210lat) 350,000& ~ 12& 4,200
204 HPHAFH| 19,200 32,400 A 13,200
01 NP2 HHH| 1,200 1,200 0
O I 100,000& * 121 » 12& 1,200
03 SHYER-AHESH| 18,000 31,200 A 13,200
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22X s
. H¥SIHEH(Ws)
el ol 29| (ctel. s 2
- _ _ bSE Y=
2N -3 -2 (SH) - NEAME - BHES Ol & OﬁEOH HunsZ
O tolgsyl 50,000& * 309! = 12& 18,000
Jl23&Hl 15,240 18,112 N2,872
Jl2&l 15,240 18,112 N2,872
201 Bt 15,240 17,112 N1,872
01 AtR2t2ld] 15,240 17,112 N1,872
O der~=2H| 6,000
- 2AEXNSAIREE 7Y
500,000& = 12& 6,000
O dxt=z 9,240
- S A 220,000& = 204 = 12& 5,280
- ZElE 0| 110,000 * 3CH * 128 3,960
MEES(nsS) 1,510,000 1,510,000 0
HEHAH KIS 1,510,000 1,510,000 0
TANNEELINH ME= 1,510,000 1,510,000 0
701 JIEISHEEZ2 1,510,000 1,510,000 0
01 JIEIgIHEEZ2 1,510,000 1,510,000 0
O TANUSEESH &2
15,100,000,000& * 10/100 1,510,000
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A T2t ot

M Ul oHEEo
ol THLrEoloe 23 (S92 A E)
_ _ _ Muo
SN EB - SRA(3) - MRAY - BES 0 & 24 e HRE2
el 4,861,233 3,847,800 1,013,433
= 27,744
= 300,000
= 889,561
Al 3,643,928
THLrels OFX & of 2,780,270 2,725,292 54,978
= 27,744
= 300,000
= 889,561
Al 1,562,965
Wirare e 243 1,795,545 110,305 1,685,240
= 900
= 754,689
Al 1,039,956
TWLHTHE] 2 - RHE AN 2E 106,255 50,795 55,460
201 Loty 2,035 2,035 0
01 AR 22| 2,035 2,035 0
O Yer+gY| 2,035
- Al Fo TR AR
55,0002 * 109! 550
- Agol Y RN BT MR
55,0008 * 279l 1,485
301 LeHPAS 80,220 48,760 31,460
03 SlZAUIAAZ] 75.320 45,760 29,560
O A8)|s Aollls 28 Y SRSB4
7,000 * 809 * 13HCH * 13 7,280
O MBIES U +2EES
7,000 * 3001 * 13HCH * 63 16,380
O MotAg)z FAME &
7,0002 * 10091 * 33MHCH * 28] 46,200
O SHI| oy =&
7,0002 * 3001 * 22 * 139HCH 5,460
10 #AMHBAZ 4,900 3,000 1,900
O 2.92/71 J|\G & Al 7,0002 * 6002! 4,200
O HOto|S AL 64 IS A
7,0002 * 1009! 700
405 XhakE S| 24,000 0 24,000
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S A
X XH .
(= I

chel:

el ot
Wl oEA

BAT O

Met2telses &

a
o 1o

t

SN HR L SR(3) - MRAY - BAS 0l & 24 e HlnE2
OH2ERE XN = 4,689
Al 10,941
201 ereo| 15,630 14,220 1,410
= 4,689
Al 10,941
01 ARzl 15,630 14,220 1,410
O ys+gY| 15,630
- HHSS2E HHO L 222
13,160,0008 * 1A 13,160
= 3,048
Al 9,212
- 2S0/AD0Y E22 S
2,470,008 * 14! 2,470
= 741
Al 1,729
ABAM PE 131,000 0 131,000
201 Y2yl 3,500 0 3,500
EEEET 3,500 0 3,500
O AN&ZHISTY 3,500
- ABtAIE R 500,000 * 77HA * 1& 3,500
401 ASHILLHH 127,500 0 127,500
01 AlZH] 127,500 0 127,500
O ASHAH(ZE)NE 5=
100,000,008 * 1JH4 100,000
O &1 FMEl EXI0HL
25,000,008 * 144 25,000
O 44 g2 Z2M0IE DA
2,500,0008 * 1944 2,500
S=0lQFEAL SR 1,530 0 1,530
=2 900
Al 630
201 er2o| 1,530 0 1,530
= 900
Al 630
01 ARzl 1,530 0 1,530
O ys+gY| 1,530
- 220 AHAL S 1,530,0002 * 14! 1,530
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A T2t ot

M Jjugls orEEor
el ThRieleiE U (25 & 2)
SA - SRAEA) - MM - BES Ofl &K glggf; Hws2
2 900
Al 630
1192t E MIEl P& X & 1,500,000 0 1,500,000
= 750,000
Al 750,000
401 AlEHI L2 1,500,000 0 1,500,000
= 750,000
Al 750,000
01 Al&H] 1,500,000 0 1,500,000
O H&s 19AFME M=
1,500,000,0002 * 14! 1,500,000
= 750,000
Al 750,000
RS Ther o 724,056 1,615,590 £891,534
= 300,000
= 108,399
Al 315,657
RS THE O 2 Dof=T 288,060 333,590 45,530
201 Lur2 Yyl 59,560 68,200 8,640
01 At el 23,800 23,200 600
O Yurg| 7,700
- THeolE oY 222
5,000,008 * 141 5,000
- SRS DM R 9,000% * 300% 2,700
O 2944 14,000
- NSO SBHAERAVE T
70,0008 * 2021 * 103 14,000
O 2zl 2,100
- WHOH R 22X 24
7,002 * 1021 * 302 2,100
02 ZZ=2YY 35,760 45,000 ~9,240
O 2222 2 AAl 1,880
- BABIE 2AI CCTV SIMAEE
65,0008 * 6JH2 * 122 1,880
O AN&FHIRXbI 23,880
- ceTv e 208,000,0002! * 6/100 12,480
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SM: T2
& TYuels orEEQl

(i hliywi]

Chl: KHOUTHLE 0 (25 & 2)
SNBSS - MRAY - BAS 0 & o4 e HIRZE2
S ASIEE NS L HUARAAE el
300,000 * 38042 11,400
202 Ofl 4,500 6,750 A2,250
01 =Lioit] 4,500 6,750 A2,250
O N PLEw
50,0002 * 321 * 302 4,500
203 YREXY| 2,000 2,000 0
038 AEFZALFY| 2,000 2,000 0
O WS ol =x 2,000,008 * 11 2,000
307 eI2t0lH 50,000 0 50,000
05 RIRSIES 50,000 0 50,000
O WK = = A 50,000,000 * 14! 50,000
401 AlEHIL 20 172,000 123,750 48,250
01 AI&H] 172,000 66,300 105,700
O oA (2&2l)
172,000,008 * 14 172,000
THoHSIB K7 ] 408,000 1,200,000 AT92,000
= 300,000
= 100,000
Al 8,000
401 Al&HI L2 O] 408,000 1,200,000 A792,000
= 300,000
= 100,000
Al 8,000
01 Al 400,000 1,200,000 800,000
O THoH?IB X7 (22 Tl AreS
400,000,008 * 14} 400,000
2 300,000
= 100,000
03 A&l 8,000 0 8,000
O WHSIBKT Hb| 8,000,0002 * 14! 8,000
SLH2E AHAY 27,99 82,000 54,004
= 8,399
Al 19,597
307 eI2tolH 27,99 82,000 54,004
= 8,399
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SM: T2
& TYuels orEEQl

(i hliywi]

ool XPOITHL Ol CEEED
_ _ _ Muo
SNBSS - MRAY - BAS 0 & o4 e HIRZE2
307 QI2t0IF Al 19,597
02 oNANEZE 27,996 82,000 54,004
O Z4al28 AAIY 27,996,002 * 14 27,996
= 8,399
Al 19,597
NEZ - FHEX AF2E 39, 142 51,023 A11,881
=2 7,501
= 3,763
Al 27,878
OLFEF oK 2ol U H 7,300 22,400 ~15,100
201 er2g| 1,000 1,000 0
03 EA= =] 1,000 1,000 0
O THE0IZBAIE LTI AAI2H
500,0008 * 23] 1,000
401 A&HILLHH 6,300 8,400 A2,100
01 AZHb] 6,300 8,400 A2,100
O WHSIBAL HYEX B &
700,008 * 54 4 3,500
O #LADY ZDEXNE DHLAL
700,008 * 444 2,800
NEZS FEEZ U 22 11,800 11,500 300
201 Ygreg| 7,000 7,000 0
01 At el 7,000 3,000 4,000
O ys+gY| 7,000
- OIHFA o WA E2S
500,0002 * 63l 3,000
- EHPANMAIL FHEY 242
80,0002 * 5004 4 4,000
202 OiHl 4,800 4,500 300
01 =Lfoid 4,800 4,500 300
O NE2 HEFY £
20,0008 * 421 * 602 4,800
WLz ot HAY Hy| 20,042 17,123 2,919
= 7,501
= 3,763
Al 8,778
201 er2g| 20,042 17,123 2,919
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M T2t
M THAQle ot A O
chel: olgrel 29 2tel (chel &)
_ _ MEC
A -3 -2 (3H) - NRAY - BEZ O AFOH 'oﬂ/'\_FOH Hos
- UEASEEEA uE
7,000& = 2821 * 23] 392
O gxz 800
- EsR =EXNES 400,000 * 2CH 800
02 322934 12,480 43,697 A31,217
O 3322 % HMA 2,580
- ZEANE dIIRs 50,000& * 12& 600
- URAUNESAAN RELS
330& * 6,000¢! 1,980
O AIZZHI= Xl 9,900
- glgkel FE A0l 22|
500,000& * 9H A 4,500
- Qe FE A0l A
600,000& * 9IH A 5,400
03 A2 4,400 5,350 2950
O a2t 4 JI8&8A
4,400,000& » 14 4,400
202 0idl 5,400 7,560 2,160
01 =2U0oibl 5,400 7,560 A2,160
O YeAHRFE 50,000& = 521 = 123 3,000
O gl #8498 =48
50,000 * 321 * 83 1,200
O DIIMAAAE ASHUER(PE, S
) 40,000& * 30Q! * 13 1,200
405 KHEHFE SHI 19,250 6,000 13,250
01 XA ESEFHSHI 19,250 6,000 13,250
O sdJI 1,000,000& * 9IH A 9,000
O flgtel EFH| 750,000 * 13& 9,750
O AIs 500,000& = 14l 500
OIS L dlattiyl = 75,400 77,550 2,150
201 ZEH2EH| 74,300 74,950 AB50
01 AtS2teld 74,300 74,950 A650
O et=2t| 56,550
- SR 2,000,000 * 253 50,000
- 2X9E UM 2 23
15,0009 * 2009 * 2& 6,000
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SH: G2 B
HE: jgls orEEor
ool g 2y e (5l &2
SN HR L SR(3) - MRAY - BAS 0l & 24 e HlnE2
O olgsl Selth® RS 6,475,008 « 14 6,475
2 1,944
= 1,361
Al 3,170
oI1%el SHX 2 30,564 530,500 £499,936
= 9,169
Al 21,39
201 L2yl 23,064 23,000 64
= 6,919
Al 16, 145
01 ARzt 23,064 23,000 64
O gut2g| 1,000
- DIl AIBIDIE S
1,000,000 * 14 1,000
= 300
Al 700
O 2g+¢ 22,064
- DS DSEY ALY
22,064,0002! * 14! 22,064
= 6,619
Al 15,445
405 THEF S| 7,500 7,500 0
= 2,250
Al 5,250
01 XHAYLSEFSH] 7,500 7,500 0
O elgel aAl|Als 82 7,500,008 * 14 7,500
= 2,250
Al 5,250
DI PIAILFHI 5 47,117 0 47,117
= 16,655
= 11,659
Al 18,803
401 AlEHI L2 21,600 0 21,600
= 9,000
= 6,300
Al 6,300
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A H
M THS

chol: olurel 29 Fe (619 &2l
_ _ HEC
SAN-ZH-SA(FH) - NRAY - BE=Z O AF oK Ofl At ot Hws2
01 A6 21,600 0 21,600
O DS a4 INA
21,600,000 * 14! 21,600
= 9,000
= 6,300
Al 6,300
405 R&HFSH] 25,517 0 25,517
= 7,655
& 5,359
Al 12,503
01 RAUASEFSH 25,517 0 25,517
O UYMSE M 25,517,002 * 14] 25,517
= 7,655
= 5,359
Al 12,503
HHSAAY (22 D) 91,349 22,508 68,841
oz 2oy 80,649 16,200 64,449
oIzl 2oyl 80,649 16,200 64,449
101 o121l 67,449 0 67,449
02 +g 67,449 0 67,449
O A2e2R4d
74572 % 67TAIZH * 1501 * 122 * 0.75 67,449
203 L= 3,000 4,200 A 1,200
04 ENSIAL=ZY 3,000 4,200 A1,200
O ThLH22l (152101 3H) 250,0002 * 122 3,000
204 LAY 10,200 12,000 A1,800
IBEEEEEESET] 1,200 1,200 0
O & 10,0002 * 101 * 122 1,200
03 SHALLHHSH| 9,000 10,800 A1,800
O B s 50,0002 * 1501 * 122 9,000
=l 10,700 6,308 4,39
[EEE 10,700 6,308 4,392
201 sreg| 10,200 5,808 4,392
01 ArREeltl 10,200 5,808 4,392
O Yer=gH| 3,600
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A T2t ot
HH: #F2IIZH(H2eln)

¢ D=8l (e &
B . M. CHY (5 NEAMS . BiH2 Al OH HEE Hl =2t
T=NBA S ARE 300,000 » 122 3,600
O dxz 6,600
- ZEAD ¥ ZEH
220,000& = 2CH = 12& 5,280
- DT2Ig(&ah) 110,000& = 1CH ~ 12& 1,320
301 YA 500 500 0
12 JIEtEAZ 500 500 0
O ZxE HEMHIAN e 24
5,000& * 1004 500
MWLES (M2 D) 1,989,614 1,100,000 889,614
LHEHH K= 1,989,614 1,100,000 889,614
Metze s 1,989,614 1,100,000 889,614
702 JI3HNES 1,989,614 1,100,000 889,614
01 JISHEZ 1,989,614 1,100,000 889,614
O Mt2edl= 198,961,400,000& * 1/100 1,989,614

- 41 -




8!
K
OF
uJ

%0

Kl i

o1 <l
W=

= Al w0
K B K
RYIE Y/

= A
9]

X ZH

00J

C]

— QY] o o o o o o o o o
(@) Al («p] < Al [ee] A [V — Ye] [Ye)
™~ « N e ~ ™~ @ 9o
— ™ — — [ep) © |0 O | © — A A
n0 o] ~ Nl g =212
Ko |2 3 NI < |«
E! <
o
N~ () o (@) o |o o o (=} S o
< 5 S|8|3|8 8|38 2|28
o - -
m |2 -
K=
O o o <o} [ce} o [ce} o o o o o o o o o o o o o o O o o o o (@) (@3 N (e}
REREEESIEIfIEB 8 88 € &8 88 88 88|88 3 E|BIBIR B
SRR N P O - I I ] R B ) ) e
3 ) <
<
=
m W < H =
N = o W ol ol ol o ol
3 Y . ; == T
:.__. * - - * * * " o
0 5 3 kB s o o ER
) S - 2 5 R T
o x * x
o < of) * * * o- * = =
= = = = of ) = J
g 5% z 3 ¥ =ag ¥ 2R
=< S w8 8 g wmgS -
I+ 3 S o S ol ™ o OF o
= <+ 0 uo S 43
~ = <+ <+ O S 43
= it Ll ol B FORT I
= = ol
ol 5 i L KF
& ok - .
— ey oF —_ 00 Ok ~ 0
x %0 E &l . 5 5 B B =
Ol s o ¥ - g - ay _ ® _ z)
; K A o < 4 ® < F - I
. - = LU L (N = S -
Rl 0p ) YRGS & Gy W 3 o ) o
RO W ol | | [ I ) i
. i R0 O ~ O O LY
x " 0 Q|5 )
I+ &r i il
Al T
_uu_

- 42 -




2AH: AW
. N2H HE23 24
o HAEHFO WA S (Ste:&3)
_ _ NEC
2N -3 -2 (SH) - NEAME - BHES Ol & Omﬁo” HunsZ
- EHARES TS Hel
7,000& + 521 = 50! 1,750
202 o4l 6,000 3,840 2,160
01 =2WAbl 6,000 3,840 2,160
O SYHAERE N HH
20,000& * 521 % 53| « 12& 6,000
TAIZZ = - 23 25,540 157,200 A 131,660
CAIEZ M M4 25,540 25,400 140
201 LBt 19,780 1,800 17,980
01 ArR2t2|bl 19,780 1,800 17,980
O getx=gY| 12,500
- CIAol2ed &7 500,000& 14! 500
- ZZAFS X ZAFRER AIQHHIZE
1,000,000& * 54! 5,000
- SAF2ZY . AE I OME
10,000& * 7005 7,000
O 2824 4,760
- ZoAR5 Alolgt
70,0003 = 1721 = 43 4,760
O =gl 2,520
- 7& 2 CIXel JtolEetel g =&
7,000& * 321 » 120 2,520
202 o4l 5,760 3,600 2,160
01 =2WAbl 5,760 3,600 2,160
O A2 CIRQ HAAS Z A
20,000& * 32! x 83|  12& 5,760
OtItES=H 84 422,508 640,940 N218,432
CleanOIILE 2+=D| 422,508 640,940 N218,432
201 LBt 22,700 28,920 26,220
01 ArR2t2|bl 22,700 26,520 A 3,820
O getx=gY| 11,500
- SSFYNE HAKE M
150,000& * 30 4,500
-=E8= HH 3,500& * 2& * 11,0002 7,000
O 294 11,200
- ZSFUUMARHIXE AARAE S Aox
=3 70,000& * 109! * 43| 2,800
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A A=

Mu: DEH AS25 T4
o9 OIIEZSH &4 (9l &3
SA-EH O (3) - HBAY - BAS Ofl A o4 giﬁgfﬁ HRS2
- EEEIEE ]
70,0008 * 82! * 53] 2,800
- YRSV 2Y4Y
70,000& = 821 x 103/ 5,600
202 O4Hl 9,800 11,720 AN 1,920
01 =Z2Wob] 9,800 11,720 A 1,920
O Z2SFEHALXKGER2FX
50,000& = 501 x 203 5,000
O Bsxeaz ol
20,000& = 5021 x 43| x 12& 4,800
402 QIZ2EX =0l 390,008 600,000 N 209,992
01 QIZX=2EXR 390,008 600,000 A 209,992
O ZS2I0HIE Z2=F& 22|
42,858,000 = 13JH2 = 70/100 390,008
Aol B2l M2 200,000 300,000 100,000
= 100,000
Al 100,000
AEOl ERDIAIE =& 200,000 300,000 100,000
== 100,000
Al 100, 000
402 QIZtXIE0| A 200,000 300,000 100,000
= 100,000
Al 100,000
01 QIZX=2EX 200,000 300,000 A 100,000
O A9l ERDIIAFE (16MITH)
200,000,000& * 14 200,000
T 100,000
Al 100,000
Al BIZF=HOHA 4,789,500 8,959,731 A4,170,231
g 699,000
& 239,700
Al 3,850,800
SE L TAF=AHEE WA 4,789,500 8,959,731 N4,170,231
e 699,000
== 239,700
Al 3,850,800
SEFEHISAIS 180,000 2,698,710 N2,518,710
403 XXSHHSAH20|H 180,000 180,000 0
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2AH: AW
X XH -
S Tt

O mE Y CAIFENEY A (9l &3
_ _ _ Muo
SN EB - SRA(3) - MRAY - BES 0 & 24 e HRE2
02 ZOIASHHE B AL L] 180,000 180,000 0
O SEFHTAY(SE)
40,000,009 * 305 * 15/100 180,000
SAENEY HEAL 4,509,500 6,261,021 ~1,751,521
= 699,000
= 209,700
Al 3,600,800
201 L2yl 10,200 13,825 73,625
RS 10,200 13,825 3,625
O gurg| 6,000
- 2B FAHBAMEAY B2E M
1,002 * 2,0008 * 3% 6,000
O 2zt 4,200
- EABANLAL ST
7,0008 * 501 = 108 * 122 4,200
202 o1t 9,600 8,100 1,500
01 =UHoTH 9,600 8,100 1,500
O a8l =
20,0002 * 49! * 108 * 122 9,600
401 AlEHIL =20 4,489,700 6,239,096 ~1,749,396
= 699,000
= 209,700
Al 3,581,000
01 A&l 4,489,700 6,220,800 A1,731,100
O 26 FHEAME A
4,489,700,0002 * 14! 4,489,700
2 699,000
= 209,700
Al 3,581,000
SEEIESE-Te] 100,000 0 100,000
= 30,000
Al 70,000
01 YL 100,000 0 100,000
= 30,000
Al 70,000
12 JIE2a3 100,000 0 100,000
O S=LTFYIAMY 100,000,008 * 14} 100,000
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2AH: AW

Mo DI Ofor
Sell =& UL SATHEY N (988
_ _ Hug
SN M C(BH) - MRAY - B2 01l &k o T HRE2
= 30,000
Al 70,000
HY 2L (As) 144,068 36,216 107,852
o1zt 2ol 127,118 18,600 108,518
ol 2ol 127,118 18,600 108,518
101 QlZ4H| 107,918 0 107,918
02 =g 107,918 0 107,918
O N2telResT
7,457 = 67TAI2F = 2491 = 12&8 = 0.75 107,918
203 SR F&| 4,200 4,200 0
04 SN=gueEal 7,200 7,200 0
O 2A=1H(3092!1015t) 350,000& * 12& 4,200
204 AP AH| 15,000 14,400 600
01 H¥ZSHSHAY| 1,200 1,200 0
O WM& 100,000& = 191 = 12& 1,200
03 EZYRYESH| 13,800 13,200 600
O terg sl 50,000& * 2321 * 12& 13,800
e 16,950 17,616 666
S22 16,950 17,616 666
201 LB29H| 16,800 17,116 A316
01 At®2teldl 16,800 17,116 A316
O YugH) 6.240
- NREE S 7Y 400,000 = 12& 4,800
- NEASEE 12,0008 * 10& » 128 1,440
O dxz 10,560
- Az =
220,000  1Ch * 122 2,640
- Zebl0l BT RIE D)
330,000 * 1CH = 12& 3,960
- IO Z&lE Dl 110,000& = 3CH ~ 12& 3,960
301 dotEa=z 150 500 A350
12 JIEtEAZ 150 500 A350
O HRE BIMUIAN HE Da
5,000& * 3021 = 14 150

— 46 -




S A

X| ZH -
S =

OlcH S AIDH 2 2t
CAZEZAD B

Sl NARHUHH I PS5

=] X EH . CIO (5 S AL . HA 2 Al OH HEE = =2t
Ol 2 = Al OH & 1t 983,924 4,250,188 A3,266,264
SAZEYEDIBEY 99,590 3,747,200 A3,647,610
NEZHLHEAMHA 25 99,590 3,747,200 A3,647,610
NS 2L EAS 49,280 3,667,800 A3,618,520
201 L3 13,780 23,300 29,520
01 AR 2t2ldl 13,780 23,300 A 9,520
O get==ZHl 8,880
- NEZEE™d S 28I M
30,000& * 2003 6,000
- RHERE=E 12,0008 * 208 » 128 2,880
O 284 2,100
- NPHUNIR BALE
70,000& * 1521 * 23| 2,100
O =&l 2,800
S NeREEE =134
7,000 » 82 * 50 2,800
202 Oidl 8,000 9,000 A 1,000
01 =Wodl 8,000 9,000 A 1,000
O NEmggd 2=
50,000& * 4021 * 40 8,000
301 etEaa 15,000 0 15,000
10 AIAHIEAZ 15,000 0 15,000
O TAZHLN 42N 9IAB
15,000,000& = 13 15,000
306 =93 12,500 12,500 0
01 &¢3 12,500 12,500 0
O NG EHH = 12,500,000& * 12l 12,500
=SS HIOIEt2 A4 50,310 0 50,310
201 Letd| 24,310 0 24,310
01 AtSR2t2ldl 22,310 0 22,310
O get=ZH| 12,000
- SEHIOtII3E=2 A8 820t 2EXL
= A 1,000,000& * 23| 2,000
- SUEMUHAN dF EItY 25 =
H&sS 5,000,000& = 23| 10,000
O 2g=x¢ 9,050
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S A Ol AIOHE 2t

M CAZgEAd|Igtxd

ool XARELHHI PE (51 &2
_ _ _ Muo
SNBSS - MRAY - BAS 0 & o4 e HIRZE2
- SEHOIIEE RUOFAUAT 845
otSIE g 200,002 * 200! * 23] 8,000
- SHEHOITIRER EX9IRE HH2T
70,0008 * 150! 1,050
O 3zl 1,260
o L EESESS
7,000 * 32 * 52 * 122 1,260
03 A2 2,000 0 2,000
O =SSEHOIIEIS T8 ALY o
8o Al 2,000,0008 * 13l 2,000
202 Ofl 4,500 0 4,500
01 =00l 4,500 0 4,500
O SSEOIIES THYD 57
50,0002 * 39! * 303l 4,500
207 1IN 1,500 0 1,500
NBEEEET] 1,500 0 1,500
O =SBHOIIIAES AY W2t 2
500,0002! * 33| 1,500
307 eI2t0|H 20,000 0 20,000
05 I2IsIEa 20,000 0 20,000
O SSEHOHIT ARM EILHAE
20,000,0002! * 13l 20,000
oL & T Al BHS D) 654,375 267,864 386,511
OHE T AIRHS D] 654,375 267,864 386,511
WHOZ Ol OFF G AlQHS D] 404,935 62,660 342,275
201 Lsr2 | 336,285 50,410 285,875
01 AFR2elt] 76,760 20,270 56,490
O Yurg| 63,200
- S HTAIAY D8] M ol
35,0002 * 1005 * 23] 7,000
- RI5Xt OLAIOH HEG Al IXHE S
Hl (5 =) 800,000 * 49 3,200
- RI5Xt OLAIOH QHE G Al IXICHEl S
Hl (5 =) 2,000,0002 * 13| 2,000
- RI5X OLAIOH QHE G Al SIXHHEI &1
B2 (53) 1,000,0002! * 13l 1,000
- HXAAN HEXY SAS
15,000,008 * 13| 15,000
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SA: DIHE AL Dt
M LM T AIOHS ]
9l OFE T AIDHS D] (69 & 2

_ _ HEC
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ofl At ot Hws2
VIR EEEESS
20,000,008 * 14! 20,000
- BOIA MEXY SASY
15,000,0002 * 13l 15,000
O 2g+g 7,260
- QHSAIRED| AR BHLY
70,0008 * 1821 * 23l 2,520
- EC A ARG Bl
70,0008 * 821 * 43l 2,240
- HHDE MY 250,0008 * 103 2,500
O 2| 6,300
- QECA AREX
7,002 * 391 * 2002 4,200
- ZOIA ALEY) 7,002 * 391 = 1002 2,100
02 ZZ2Y| 1,625 10,000 ~8,375
O 2222 2 MAl 1,625
- DOIA PELBR (YY)
25021 + 3,00004 750
- BoIA RELB2(SII)
1,7502 * 5000 875
03 A2 257,900 20, 140 237,760

O O{2l0l Olstd ME WA (67H4)

20,000,000 * 14l 20,000
O 020l HEHE a3
34,900,0008 = 14l 34,900
O SXAAI2YH| 30,000,0008 = 14l 30,000
O 8XaA ED2 PPT(ZER)
20,000,0008 * 13 20,000
O EXAAN EDXE ME(I2)
25,000,0008 * 13| 25,000
O 2H HETAl X Mzl (B XA A
15,000,000 * 13 15,000
O SoUAE 200 Y Fah, LEDATR &X
58,000,0008 * 14l 58,000
O ZoAl SAb 29| 20,000,0008 = 14l 20,000
O 204l =92 IAS M
20,000,000 * 14l 20,000
O 2H HETA AZXA HE(2OIMIZ)
15,000,000 * 14! 15,000
202 OHl 5,200 3,000 2,200
01 2U0id 5,200 3,000 2,200
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S A Ol AIOHE 2t

Mo OhE T A|BHS )|

SRl HE T AIBHS D] (e =@
S - BB SR (B) - MRAY - BE S 0l &b S HRE2
- o T - = S = &= 0:”/&,% Wse
O T AIAY =2 300,000& = 123 3,600
O =Wl AN Al HAXUHE &It
100,000& = 4Q! * 43] 1,600
203 YRFLAH| 2,000 0 2,000
03 AIMFAAHRZLY] 2,000 0 2,000
O HEEAZRFA 2,000,000& * 14 2,000
206 THZHl 18,000 0 18,000
01 M= 4l 18,000 0 18,000
O =ALANE 228
300,000& * 128 = 54D & 18,000
207 A SoHEH 14,000 0 14,000
01 A1E49d| 14,000 0 14,000
O Iz S Z208 s8I
4,000,000& » 235 8,000
O EH4ZAIMA dnt=4
1,500,000& * 43 6,000
301 Lptsazg 2,450 1,250 1,200
10 BAIAHIEAS 2,450 1,250 1,200
O HQHAl U E Al BHSD] AF S FHIHA
B4 7,0002 * 2501 » 23| 350
O SHEE ARG I B4
7,000& = 5091 » 63l 2,100
307 glz2told 25,000 0 25,000
02 gltFaEx 10,000 0 10,000
O QHETAIYS B2l
10,000,000& * 13 10,000
04 CIZtHALE X 5,000 0 5,000
O STHX ZoIChEl (R
5,000,000& = 12l 5,000
05 QIZtRE 3 10,000 0 10,000
O MM ARSI ZH(5, 6Xt)
5,000,000& * 23| 10,000
405 KHeHE SHI 2,000 0 2,000
01 XA EFHSHI 2,000 0 2,000
O HICI27t0et 2,000,000& = 1CH 2,000
HOtOLAH AIBIOHM Ser2tHdH 23 249,440 205,204 44,236
201 LAY 73,440 57,204 16,236
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S A

OlcH S AIDH 2 2t

M3 O E AR
SR CHE G AIBHS D] (S ®&
=] X EH . CIO (5 S AL . HA 2 Al OH HEE = =2t
01 At®22teldl 29,440 21,204 8,236
O det==ZH| 26,800
- NRES 400,000& * 12& 4,800
-DLP TV AE ELIH &=
1,600,000 * 64 9,600
-DLP TV AE Z2LUH EH
150,000& * 1674 2,400
- dAXE gd0lE
10,000,000& 14 10,000
O dxz 2,640
- =AI| 220,000& * 128 2,640
02 2=2Z4| 44,000 36,000 8,000
O 3322 % MA 24,000
- M3 2,000,000& = 12& 24,000
O A4 ZEHlS Xl 20,000
- ZtHAE 22l 1,000,000,000& * 2% 20,000
307 21201 H 176,000 148,000 28,000
05 BIZIRIEZ 176,000 148,000 28,000
O SE2H4dEH ZLHA 2122
176,000,000& * 14 176,000
SANEEY 2=F 147,600 208,200 A 60,600
ot EE A4 147,600 208,200 A 60,600
HOHANME 2H4 147,600 208,200 60,600
201 LBH2HH| 29,600 31,200 A 1,600
01 At=2teldl 17,600 8,700 8,900
O get=ZH| 15,500
- Z3&E 28T ME
5,000& = 1,000% 5,000
- MI3At Her d2a3n=
3,500,000& = 3oHL 2t 10,500
O Sl 2,100
- dHdE2dE HRFA
7,0008 * 321 » 100 2,100
03 AI2ZHI 12,000 12,000 0
O ANEIZE3 izl & M2 EE3 S
6,000,000 * 23] 12,000
202 044l 4,000 4,000 0
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S A

OlcH S AIDH 2 2t

HE: CABCY PE
ool MOIAFEA A4 2| &8
_ _ _ Muo
SN EB - SRA(3) - MRAY - BES Arey e HRE2
EENEEI 4,000 4,000 0
O B AT ALEY
50,0002 * 291 * 403l 4,000
403 THXISHHSXHZO0IR 114,000 80,000 34,000
02 BIIZS Ol CHEHCH B AR 114,000 80,000 34,000
O SIZEXIAIY MALTA YLOHY 4
2 60,000,0002! * 13l 60,000
O RIBKHC BD(QH) HA(FS+YS) 4
5] 4,000,0002! * 13l 4,000
O RIBKHOH AISHEN Bt SIS 248
(oor3e I E) 30,000,000 * 13l 30,000
O & L MAIBOH(QH) My 248
20,000,008 * 13l 20,000
SR 22| (DI AIHL D) 82,359 26,924 55,435
LT 73,152 10,800 62,352
ol 2| 73,152 10,800 62,352
101 oIty 62,952 0 62,952
00 &g 62,952 0 62,952
O Nelzesy
7,45720 * 67AI2F * 1491 » 128 * 0.75 62,952
203 ARFXY| 3,000 3,000 0
04 SASZALEY| 3,000 3,000 0
O DIA S AIHE DH(15210/5H)
250,0008 * 122 3,000
204 MYl 7,200 7,800 A600
EEEEEESEDN 1,200 1,200 0
O Bz 100,002 * 191 122 1,200
03 SHYLLHE S| 6,000 6,600 A600
O HElzsH 50,0002 * 109! * 128 6,000
=2t 9,207 16,124 £6,917
2 9,207 16,124 £6,917
201 Lpr2y| 9,207 11,624 A2,417
01 AtRZ2lb] 9,207 11,624 A2,417
O Yer4gH| 5,247
- AREE Y 250,000 * 122 3,000
- =NEX 15,6002 * 128 A + 128 2,247
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SA: Ol = AIOHE ot
M HE2AZH|(0IHZAIDHZ D)
el Jl=3sl

SA - EB O (S) - MRAY - HAS Ol e
O gdxz 3,960
- S A 220,000& * 1CH = 12& 2,640
- ZetZEH 110,000& = 12& 1,320
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